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. Full Marks : 70
Pass Marks ; 21

Time : Three hours

The ﬁgures in the margin mdzcate full marks
Jor the questions. ,

Q. No 1 (a to g) carries 1 mark each ‘(any four)........ :'-..“1)(4 =
Q. No. 2 {a to g) carries 1 mark each (any four)............. 1x4 = -
Q. No. 3 (a to m) carries 2 marks each (any ten..........2x10 =20
Q. No. 4 (a to m) carries 3 marks each (any ninej........... 3x9=27
Q. Nos. 5 (a to e) carries § marks each (any three)........ 5x3 =‘15
' Total =70
\
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" ’gzw%y;ﬁ?;frﬁzg@?%:; liowmg queStIOns : , trd=a , (b) Which one of the follovvlng age ranée of persons included in
NG - 5175 2ose T, @A ¢ the group of working population ? .
et SraRaTar A St e R | _.WWWWWW\WCWW?
(@) “Which one of the following is not a sub-ﬁeld of Economic Fese & R R W@ CRM SRS ?

Geography ? ‘ ,Wmmmwﬁmmmma
REe @AGH wdnfes WAl ToTRT N2 2 Choose the correct answer .
RIe @ ST Soier Bottaa 7w 2 o% Cowdt A Sear s . .
maﬂ#mé#@ﬁmﬁgwﬁﬁ%é@sawqwm— | | o5 Beafs ey wr s o -
- Choose the correct answer : _. ) C : I R —
oT CeRhl AR Geew ¢ | o - | '
| ug el by e " , - , () 15 to 55.years
. e freE ara S¢ I /Y ¢e I]/.
(i) Gedgraphy of Resources | ¢ (AT e W
T ROl i | | 15 f%R 55 S6R
$ BT | L | o (@) 15 to 59 years
i , | | NEE RN
(i) Geography of Industries ~ A
Tolel el -3¢ (AF ¢ IR
ot SO 15 f 59 SR
- R H—q-@‘m (i) 20 to 60 years
(iti) Medical Geography’ 30 J %]l Yo I
fﬁ]%&ﬂfgo‘cm 20 (AF Yo TK
Eiz?;igz 20 F 60 ek
(iv) Geography of Tourlsm () \ 18 to 60 years
g v T o vo T
ofefGe BTN St (A Yo TX
Al WA e 18 FERI 60 R
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(c) Which one of the follow.ing. is not a plantation crop ?
RS @RRY @I = TR 2
Choose the correct answer :

% CeIh AR e

@5@@?'73%’ 'aszafo : S o

E| ﬁrmm@ e’
'.(i) Rubber
> ~W |

TER-

(i) Coffee .‘
I
o |

(iii) Wheat
(d2
™™

(iv) Sugércane
S
EXIEIRCIR
G
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(d) Which one of the followmg Is a tertlary act1v1ty ?

ﬁ’v%@ﬂ—@mﬁwzﬁaw
Tngmﬁn@’?rq.nﬁan umrer.zm—,, o

Choose the correct answer :

g GeICH! R Clered ¢
o Gasls i W?ﬁ ;
el ﬁmw“@ﬁ e’
| (i) Trading
JA
IS
(i) Fishing
SR
RILEE|
B :

(iii) Fo'r‘estry'
AT
<t

- (iv) Hunting
i w0
A T
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(e) Whlch one of the followmg streams is dommated by male .

migrants in India ? . .
7?”@@%6ﬁ@ﬁ@®36@%&3@@@cﬁ@zﬁaama?'
ﬁvmﬁwmmmﬁ%awimmﬁmraﬁ*f@wma?

'mwmwmnﬁmmﬁmm7

Choose the correct answer :
&% CGICh) AR Glorear ¢
% Ol Ao Pl
(i) ] ‘Rural ‘to' rural
RissE oG
A AT i
miafrer miafan
(i) ~Rural to urban
K R
AN (AT =
miafE iRk

(i) Urban to rural

ERSSE I rc
MR (A A
FriRfrEr miafa

(iv) Urban to urban
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i} Which one of the followmg Is an Ancient town of Indla ?

ﬁﬁ%@ﬁhﬁmﬁ“ﬁﬂmﬁ¥ﬁf‘?“Gwmwaﬁw%ﬁmw?
ﬁwﬁﬁ@m‘mﬁﬁa‘mj cﬁﬁarﬁas*mm:rﬁ?

.WH@WW%@T&WWWWW?

Choose the correct answer -
o7 CeCo! IR Thvear 2
o Beas AT e o
() Lucknow | '
(i) Varanasi
AR
R
SR

(i) Agra
=l
lal
ST

(iv) Surat
3l
ol
e
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(g) In India, in which year of the following, the first radio |
programme was broadcasted ? o
oietd® RFFERe @mmwemcaﬁm IR R < T
SR R (oI5 2aw @fve (FOR) A Tepie afe 2

%ﬂ&fzﬁhﬁ{ﬂﬁﬁﬁﬁiw%Iﬂausma1ﬁﬁiaﬂﬁﬁxaﬁﬁ¢(i&mw)ﬁwgmmmﬁ
q#maansmﬁﬁﬂ ?

Choose the correct answe‘r :
og Gearh AR Gaedr 2
o% Bels o P S

| RIC ‘ﬁv‘-’l‘l‘l'q@} g’

0

(i)

(iii)

(iv)

86 / GEOG

1923
SHR9
EET
1923

1927
soR1
>oRA4
1927.

1930
5590
5590

- 1930

1957
Se¢1q
Sae1q
1957
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2. Answer the following = (any four}

e Yt @)t ¢ (Rigerear s1/751)
Rewreolr, Tet TRl & (I bIais)
- TR BEHR R fe (amm%zann'n%ﬁ#)
" (@) Mention one factor affectlng mining activity.
IS YO (AR GO IS T JA|
AT SOR (FC G G R T |
g AauEE oW G 1 SR wE .
(b) Mention the name of one mineral-based industry.
AR FEw OB A TR =0
o IREfeles. MR TIv S |
g faemai aRfmtt @@ 5 7@’ _
- {c) , Mention one forest-based raw material using mdustry
| FETofes (FEMIE IIAT I Tt @R [
FESET PO JITe W W G Miesa T Tt |
3 oo Mol g sweEa IR 9WRf | fa
(d) Mention one type of water transport..
TEALT GOl oI TR FAL
TAALAR @ o ST
< Ymawfy AE J@m e |
(e) Mention one hill district of Assam.
PTG SRR i A e |
PR G0 AR (S AN Bead |
© et T TeenR fenft | wa'
() Mention one tributary of the river Barak.
© 3]F T Q4 TS AN B F |
T TR G TR AN SErd I |
e Sy A e e g e
(g) Mention one cauge of Acid Rain.
45T 7agel BT 9Bt IR T I
- i 3R @l PR TR I
- ofas amm‘éﬁﬁﬁﬁﬁﬂ%'ﬁﬁ@'ﬁﬁ%ﬁtna|
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1x4=4

- Contd.



3. Answer-in brief : (any ten). e e ‘ 2%10=20
5 Oes unl ¢ (e web) | .
RS TR WS ¢ (T ™)
W et o (eRaear @)
‘(@) Mention two fields of Human Geography A
TN QIR 757 CFa o 1| -
TR QAR 715 (e T @t
gy grErifT @ s (fafa) ww |
(b) Write the formula used in India to calculate .the sex ratio.
| @ﬁwemﬁwwmﬁmqme|
OIS e o wpsite R s @l et
G B SRR S FATE WA Hegeet fw) -
() Mention two primary activities of human occupation.
| W&rﬁaﬂqﬁaﬁw— 751 2N Jfex a1 TSm0
T GiiReRes W 77 AT 3w a9 S e
ga st 979 IR eeTERE § T |
(d) Mention any two among the four pillars of Human
Development.

T R wiRer w1 R 767 Sead 1 |
N R 5RfS S8 (IR 75 SeEd IR |
g Simemsft Oes gt srafaarar d 7a’ |
(e) Mention the two divisions of subsistence agnculmre
(o PR simfes Relel 7o T 1|
IRt Fdficzn i ~rafon et 76 S |
= ey smemefr argr #Er wE’ |
() Mention ‘two reasons for low level of Human Development in
most of the Northern States of India.

Vet ©lReq WWWWWWM@W@Wq

Ty =0
W@WWWW@WWMWW%W%WW

Fi7e T I
m—wﬁnﬁm%@wgﬂm?ﬁwﬁﬁmmmﬁwﬁ
FiF7 SEE 1g’ |
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(9)

()

@)

0)

)

()

Mention two mining towns of India.
CISICRES ] 73 i Forw = e w1
URA BRRMA T @ iR ARty g o

Mention two crop seasons of India.

OISR 715 -G T rw I |

W'sﬁrﬁ-ﬁﬁaﬂaﬁ’d‘r%ﬂ“{ﬁg’ @' | .
Mention two types of Non-Ferrous metallic mlnerals.

WdWW#ﬁ@%@WWWI s
R 4T -ETIRebe greq wﬁewﬂaw%-ﬂwu
ﬂ@ﬁmﬂ%m@aﬁaﬁawﬁgn@l |

Mention two major sea ports of Indja.

RO ZEIWWWW%{‘ITI

OISR 75 I Y T A (50 | |

IRA TRR Wmﬁ%ﬁaﬁmmzﬁ?ﬁgfﬁm

In 1911, between which two places, the Air Transport in India
started for the first time ?

5535 TS SRS (I W?ﬁ?wmﬁwﬁmvfﬁmw =
57 9

S5 WW@?{ ﬁwﬁmmﬁwﬁmqﬁz@ww
7 9

1911 WEAUEAE SR TR R memﬁm
ﬁmezrs ST S ? |

Mention two Airports of South India.

el OIged 75! RN IWeg A o7t |

R SRCed 76 RN I AW Rt |

Tren 9yRaft #ee fod memt § oy |
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‘ (nt) Which two are the types of International ’I"rade ?
e AT e 75 R & o
| TR SR ittt I8 G 7oA 2

4. Answer the following quesﬁons in atbout 100 words each : (any nine)

"3%x9= 27.

.—ﬂ@ﬁmmm@m >ootfr*1wf—<—ﬁ7n (Rt w61
fAaeiRe erelEm, WW s00f R foom Me 3 (- 7A3)
- W@WWWWW 100@@?33%?@113@;
- (srEfEsTEr wg)
: (a) Explain the factors that influence human migfatiqn.'
o e AR (AT PR I AL |
TR ST eel R IRasf g T |-
g SEERAEE e G ST 36T |
(b) Explain the meaning of hurnan growth and development.
gz 3% iR Rt o it 4
T 3 @ Riem o 0t
gt I SR S FAiford 9@ |

(c) Write briefly about the 81gn1ﬁcance of the Trans S1ber1an '

Railway.
GE-SIREET (@@sINE ﬁmw Fooicd 5YCE il |
WJIWTT @R RORg A= FCHCS R
mséﬁ?ﬂ _iRfr Yot gfEfaft a’mﬁ gaa feri
(d) Write bneﬂy on the linear pattern of settlement
R s Rae wage i
e Pifes R et @l
SiEienR Ed AR S gy fer
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(e)

(9)

(h)

(i)

G) .
o WW@ﬂﬂﬁlﬁﬁmﬁmml

Write briefly the various factors and conditions respon31b1e for |
different types of rural settlement in India.

W%WWW&WC@WWWW'
I ves sl
Wﬁﬁﬁwmﬁqaﬂﬁ@Wﬁvﬁﬁmq«\w@fﬁa
R FKEweA el

WA SERE TEA T ﬂ@wﬁmﬁaﬁwmmﬁwﬁ—m@@m

.arhmﬁﬁaﬂﬁ@ﬁfq‘ga’amn

Write briefly on Tea cultivated areas in India.

mmcﬁaﬁ?ﬂﬂmﬁmwml

SIS G5 CRasfeR Raw ATwst @Rl o
' 'WWW—WWW@WI -

Explain briefly the meamng of Energy Resources and give two ‘_
examples. o

- *ifE e Y G Y T R @Wﬁﬁmu

& T o WO M TR GR 775 Sl e |
wf el ity g3'd SEa oM A fafefe &

Mention 'Why.the iron and steel industry is considered as the |
basic to the industrial development of any country.

WWWWWWW%W% cﬁm{ﬁﬁﬁm
sl T R 2

@@ weR e oFa @imxwmwmcﬁﬁa
W@W'ﬂ‘ﬂﬂ@"
mwﬁmwmwmmmgﬁ
BTN HA TR (SASTEAE) S ? :

Define the concept of Sustainable Development.
Qe TATR QREICH! T ’
T TRACE @Rl 7 )

SIREAS IR IRIES TrEiTEE 8 |

Write about the width- based railway categorles in India.

e AR e RebPr R Gl
mg@rﬁmmﬁfﬂwmm@ﬁwﬁr@ﬁfml
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(k) Write briefly the favourable env1ronment prevailed in Assam
for tea cultivation.

fchmwﬁwwﬁmﬁmWM|
S BI-5ICR T AW SR AREET R ORI el |

wmﬁﬁwwmwmaﬂmﬁ@ﬂﬁ@%

e
) Write briefly on the sub sectors of Cotton Textile Industry

AR I e ool Raw o B

it Ew M SoReiR Raw s)ewtst @t

GA-SAE A SR R arft Sk g1 fr

'(m) Write briefly on the concept of High-Tech industry.
| - TomeR GRell STICE B o
Tw-eigfen RiER QRel A FRCHCS @Il
el fRigfew gRfaaf ameifafT @ 39 for

5. Answer the following questions : (any three) 5x3=15
weTe f7al epTRs Tes frat ¢ (Reeiear folby)
frefiRe e Ted WIS ¢ (- o)

TS B SAEERE e @ (SrERasar qier)

(a) Define human geography ‘and write briefly how is human

geography related to other social sciences. 2+3=5
W'\g—cenmﬂ\wfﬁmWWTﬂmﬁsmwwﬁwm—ﬁv
12 GRER

T POl K WIS aaawgﬂmﬁ—f@\v S NG RENTR TF

Gfe® ACHCA (T |
LS gq@rrﬁ TG 8 I g9 gq@'{l@‘f TR T TN R
dar § g3 ferd .
(b) ‘Discuss the factors influencing the distribution of pppulation.
SR RO 28 (TRl SRR R S |
S 9B O R PRI KA S Sl |
gg SR MRS e GG STEHrhRA HIH | |
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‘ .

(e

Explain the advantages of water transport system

e AR TR FRAGTE [t < 1
o AR TR JRASE I W
'(d) Explain the major causes and effects of water pollution in
- India. 2+3=5
\ Wwa@qﬁwmm—wﬁmwwn
eI W R Y e sk o IR LT A |
YRT BRNE 2 Neirart e SRR ST S STeTe S|
Draw an outline map of India and mark the locatlons of the -
followmg therein ':
SIS WW&%WWWWWTWW
SN (TSl 3
roﬁmmmmaﬁmwwm\mﬁw
FafERoslkm kg @me .
Wﬁﬁmﬁwwﬁﬁmmwmm%ﬁw'
BARHRE enarafrar fafer
(). Numaligarh
TG
TETIG
TAATS
(i) ~ Srinagar
e
G\ogES
HTR
(iii)  Narmada river )
T |
=
T S
o
86 / GEOG [15]




